
Berechne die fehlende Größe

K = 415,8 €; p = 5,77 %; Z = 17,73 € t = Z • 100 • 360 / (K • p)

t = ? = 17,73 • 100 • 360 / (415,8 € • 5,77) 

= 266 Tage

p = 6,69 %; t = 80 Tage; Z = 12,81 € K = Z • 100 • 360 / (p • t)

K = ? = 12,81 • 100 • 360 / (6,69 • 80) 

= 861,66 €

p = 3,97 %; t = 8 Monate; Z = 0,83 € K = Z • 100 • 12 / (p • t)

K = ? = 0,83 • 100 • 12 / (3,97 • 8) 

= 31,36 €

K = 344,5 €; p = 5,83 %; Z = 15,06 € t = Z • 100 • 12 / (K • p)

t = ? = 15,06 • 100 • 12 / (344,5 € • 5,83) 

9 Monate

K = 619,61 €; p = 1,42 %; t = 108 Tage Z = K • p/100 • t / 360  

Z = ? = 619,61 • 1,42 / 100 • 108 / 360 

= 2,64 €

K = 443,23 €; p = 9,95 %; t = 1 Monat Z = K • p/100 • t / 12  

Z = ? = 443,23 • 9,95 / 100 • 1 / 12 

= 3,68 €

K = 691,3 €; p = 8,14 %; t = 155 Tage Z = K • p/100 • t / 360  

Z = ? = 691,3 • 8,14 / 100 • 155 / 360 

= 24,23 €

K = 494,7 €; t = 191 Tage; Z = 19,53 € p = Z • 100 • 360 / (K • t)

p = ? = 19,53 • 100 • 360 / (494,7 € • 191) 

= 7,44 %

K = 713,89 €; t = 214 Tage; Z = 26,95 € p = Z • 100 • 360 / (K • t)

p = ? = 26,95 • 100 • 360 / (713,89 € • 214) 

= 6,35 %

K = 462,39 €; p = 7,14 %; Z = 30,63 € t = Z • 100 • 360 / (K • p)

t = ? = 30,63 • 100 • 360 / (462,39 € • 7,14) 

= 334 Tage

K = 480,12 €; p = 8,05 %; t = 291 Tage Z = K • p/100 • t / 360  

Z = ? = 480,12 • 8,05 / 100 • 291 / 360 

= 31,24 €

K = 465,32 €; t = 10 Monate; Z = 30,63 € p = Z • 100 • 12 / (K • t)

p = ? = 30,63 • 100 • 12 / (465,32 € • 10) 

= 7,9 %

p = 7,22 %; t = 85 Tage; Z = 5,43 € K = Z • 100 • 360 / (p • t)

K = ? = 5,43 • 100 • 360 / (7,22 • 85) 

= 318,53 €

K = 561,42 €; p = 4,5 %; Z = 6,25 € t = Z • 100 • 360 / (K • p)

t = ? = 6,25 • 100 • 360 / (561,42 € • 4,5) 

= 89 Tage

K = 908,88 €; t = 268 Tage; Z = 22,26 € p = Z • 100 • 360 / (K • t)

p = ? = 22,26 • 100 • 360 / (908,88 € • 268) 

= 3,29 %
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